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(1) Queqlmnn mmpulinry

(2) Attempt any three questions from the remaining questions. )
(3) Assume suitable data and symbols if requited. \;\
o
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(4) Figures on the right indicate full marks.

Attempt any five: L
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(a) Why the Newton’s rings are circular and fringes in wndqg shape& f/lm are
straight? Ca®
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(b) What is Rayleigh’s criteria of resolvation? How to mﬂtaae rﬁulvm. power
diffraction grating” ,"""‘ ) »
(c) A fibre cable has an acceptance angle of 30° dud co%\m@k of refractive index

7)
(d) What is pumping in Laser? Give the typgs:of }ﬁﬁnﬁb

"\

|.4. Calculate the retractive index of cladding

() An electron is bound in one dimensiondl pﬁlcﬁuﬂ‘m of width 2.5A° that of

infinite height find its energy in tlrafemgeﬁ!%’fate

(f) How Lissajous figures are used to%gyc urknown frequency.

(g) Why is superconductor is lelmﬂ%ybﬂ;gu diamagnet?

(a) For Newton's rmgtprwt tha&mn:ﬁterb of n" dark ring 1s directly proportional
to the square root of ﬁa;u}ama’ nber. In Newton’s ring experiment the diameter
of n"and (n+8)" Em.@:gi nﬁ’@\ ar4.2mm and 7mm respectively. Radius of curvature

of lower 5.urf1ge of JeRs is 2. Determine the wavelength of light used.
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(b) Whatis n%m’%n]gdc and multimode fibre? Explain the term V-number calculate
the no Di@pdﬂb an optical fibre of 40 lim will transmit as its core and cladding
rgiraﬁ‘&v,cgyhdlu are 1.5 and 1.46 respectively. Wavelength of light used 1s 1.5

3. @ (@ ) ,fWqu 18 the fundamental principle of a Hologram? How 1s it produced and how

- ﬂ
““"i5 the image constructed by it ?

b Why we see beautiful colours in thin film when it is exposed to sunlight?
Obtain expression for path difference between two reflected rays in thin
transparent film of uniform thickness and write the conditions of maxima &
minima.
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? Q. P. Code : 530005

(a) What is grating element? Derive condition for absent spectra in plane transmission (3

grating and explain with example.

(b) What is Heisenbregs™ uncertainty principle? An electron has a speed of 300 m/ ()
sec. With an accuracy of 0.001%. Calculate the certainty with which we canes,
locate the position of an electron. %

(c) What do you mean by critical magnetic field and critical temperature
A lead superconductor with Te=7.2k has critical magnetic field of 6.

m at absolute zero. What would be the magnitude of critical magnetic fie :
temperature ?

diffraction grating.

(b) Derive one dimensional time independent.Schrodin:

wave.

200V.
Calculate : 1) he

(G Wihat are nano materials? Explain any two methods for synthesis of (5
Vanoparticles.

R R RS R R EE R L s




